Declaration of Results Ward 02 - Irvine East 04/05/2012

I declare that the result of the election in the Ward 02 - Irvine East is as follows.

There are 4 councillors to be elected.

The percentage poll was 33.84%. There were 5074 valid papers and 116 rejected papers.

The quota of votes for a candidate to be elected is 1015.

The first preference votes received by each of the candidates and the stage at which any candidate was elected is as:

Name of Candidate	Number of First Preference Votes	Stage at which candidate has been elected
CHRIS BARR	377	
TOM BARR	537	
Marie BURNS	917	6
John EASDALE	643	10
Ruby KIRKWOOD	263	
David LOGAN	413	
James MCDAID	27	
Denise MORTON	89	
Irene OLDFATHER	763	8
Joan STURGEON	1045	1

Of the total ballot papers, the following were rejected as void and not counted on account of:

Adjudication Reject Reason	Number
Which does not bear a unique identifying mark in a form that is capable of being read by electronic means;	0
On which the figure "1" standing alone is not placed so as to indicate a first preference for some candidate	5
On which the figure "1" standing alone indicating a first preference is set opposite the name of more than	
one candidate	10
On which anything is written or marked by which the voter can be identified except the printed number and	
other unique identifying mark on the back	1
Which is unmarked or void for uncertainty	100
Total number of ballot papers rejected	116

Signature Returning Officer Date

Total Number of Ballots Received	5190
Total Number of Valid Votes	5074
Number of Vacancies	4
Quota	1015

Name of Candidate	Party	Stage 1 1st pref votes	Surplus of Joan STURGEON	Stage 2	Exclusion of James MCDAID	Stage 3
CHRIS BARR	Scottish Conservative and Unionist	377	0.37310	377.37310	0.00000	377.37310
TOM BARR	Independent	537	1.49240	538.49240	4.00000	542.49240
Marie BURNS	Scottish National Party (SNP)	917	24.13670	941.13670	0.00000	941.13670
John EASDALE	Scottish Labour Party	643	0.28700	643.28700	2.00000	645.28700
Ruby KIRKWOOD	Scottish Liberal Democrats	263	0.45920	263.45920	0.00000	263.45920
David LOGAN	Scottish Labour Party	413	0.68880	413.68880	2.00000	415.68880

James MCDAID	Socialist Labour Party	27	0.00000	27.00000	-27.00000	0.00000
Denise MORTON	Scottish Socialist Party	89	0.31570	89.31570	9.00000	98.31570
Irene OLDFATHER	Scottish Labour Party	763	1.40630	764.40630	2.00000	766.40630
Joan STURGEON	Scottish National Party (SNP)	1045	-30.00000	1015.00000	0.00000	1015.00000
Non-transferable votes		0	0.84080	0.84080	8.00000	8.84080
Total		5074	=	5074.00000	=	5074.00000

Total Number of Ballots Received	5190
Total Number of Valid Votes	5074
Number of Vacancies	4
Quota	1015

Name of Candidate	Party	Exclusion of Denise MORTON	Stage 4	Exclusion of Ruby KIRKWOOD	Stage 5	Exclusion of CHRIS BARR
CHRIS BARR	Scottish Conservative and Unionist	0.00000	377.37310	32.02870	409.40180	-409.40180
TOM BARR	Independent	16.02870	558.52110	46.14350	604.66460	138.08610
Marie BURNS	Scottish National Party (SNP)	19.14350	960.28020	38.08610	998.36630	41.20090
John EASDALE	Scottish Labour Party	7.02870	652.31570	21.00000	673.31570	24.00000
Ruby KIRKWOOD	Scottish Liberal Democrats	4.02870	267.48790	-267.48790	0.00000	
David LOGAN	Scottish Labour Party	13.00000	428.68880	17.00000	445.68880	7.00000

James MCDAID	Socialist Labour Party					
Denise MORTON	Scottish Socialist Party	-98.31570	0.00000			
Irene OLDFATHER	Scottish Labour Party	16.02870	782.43500	37.17220	819.60720	32.02870
Joan STURGEON	Scottish National Party (SNP)	0.00000	1015.00000	0.00000	1015.00000	0.00000
Non-transferable votes		23.05740	31.89820	76.05740	107.95560	167.08610
Total		=	5074.00000	=	5074.00000	=

Total Number of Ballots Received	5190
Total Number of Valid Votes	5074
Number of Vacancies	4
Quota	1015

Name of Candidate	Party	Stage 6	Surplus of Marie BURNS	Stage 7	Exclusion of David LOGAN	Stage 8
CHRIS BARR	Scottish Conservative and Unionist	0.00000				
TOM BARR	Independent	742.75070	4.04050	746.79120	17.18703	763.97823
Marie BURNS	Scottish National Party (SNP)	1039.56720	-24.56720	1015.00000	0.00000	1015.00000
John EASDALE	Scottish Labour Party	697.31570	2.79687	700.11257	174.43988	874.55245
Ruby KIRKWOOD	Scottish Liberal Democrats					
David LOGAN	Scottish Labour Party	452.68880	1.84095	454.52975	-454.52975	0.00000

James MCDAID	Socialist Labour Party					
Denise MORTON	Scottish Socialist Party					
Irene OLDFATHER	Scottish Labour Party	851.63590	2.44157	854.07747	178.42295	1032.50042
Joan STURGEON	Scottish National Party (SNP)	1015.00000	0.00000	1015.00000	0.00000	1015.00000
Non-transferable votes		275.04170	13.44731	288.48901	84.47989	372.96890
Total		5074.00000	=	5074.00000	=	5074.00000

Total Number of Ballots Received	5190
Total Number of Valid Votes	5074
Number of Vacancies	4
Quota	1015

Name of Candidate	Party	Surplus of Irene OLDFATHER	Stage 9	Exclusion of TOM BARR	Stage 10	
CHRIS BARR	Scottish Conservative and Unionist					
TOM BARR	Independent	1.22778	765.20601	-765.20601	0.00000	
Marie BURNS	Scottish National Party (SNP)	0.00000	1015.00000	0.00000	1015.00000	Elected
John EASDALE	Scottish Labour Party	12.08599	886.63844	212.11173	1098.75017	Elected
Ruby KIRKWOOD	Scottish Liberal Democrats					
David LOGAN	Scottish Labour Party					

James MCDAID	Socialist Labour Party					
Denise MORTON	Scottish Socialist Party					
Irene OLDFATHER	Scottish Labour Party	-17.50042	1015.00000	0.00000	1015.00000	Elected
Joan STURGEON	Scottish National Party (SNP)	0.00000	1015.00000	0.00000	1015.00000	Elected
Non-transferable votes		4.18665	377.15555	553.09428	930.24983	
Total		=	5074.00000	=	5074.00000	

Preference Summary Report Ward 02 - Irvine East 04/05/2012

Total Number of Valid	
Ballots	5074
Quota	1015
Percentage Turnout	33.84

		Number of 2nd preference votes for								Number of 10th preference votes for
Candidate Name										each candidate
CHRIS BARR	377	133	111	59	35	24	12	14	24	105
TOM BARR	537	301	398	177	62	54	20	26	32	18
Marie BURNS	917	1016	211	117	61	34	14	24	17	7
John EASDALE	643	513	704	148	65	40	19	13	9	3
Ruby KIRKWOOD	263	204	232	121	39	45	31	41	35	12
David LOGAN	413	905	474	176	74	31	26	19	11	1
James MCDAID	27	64	92	92	46	47	75	37	42	11
Denise MORTON	89	78	166	93	51	36	38	45	37	38
Irene OLDFATHER	763	430	755	152	81	29	25	19	12	11
Joan STURGEON	1045	908	251	108	68	24	16	16	17	18

Transfers Report Ward 02 - Irvine East 04/05/2012

Valid Ballots	5074
Positions to be Filled	4
Quota	1015

Stage 1	First Preferences
CHRIS BARR	377
TOM BARR	537
Marie BURNS	917
John EASDALE	643
Ruby KIRKWOOD	263
David LOGAN	413
James MCDAID	27
Denise MORTON	89
Irene OLDFATHER	763
Joan STURGEON	1045

Joan STURGEON Elected with 1045 over quota 1015

Stage 2 - Surplus of Joan STURGEON

Stage 2 - Surpius of Joan STONGLON			
Action	Total Votes	Transfer Weight	Transfer Value
Transfer to CHRIS BARR	13	0.0287	0.3731
Transfer to TOM BARR	52	0.0287	1.4924
Transfer to Marie BURNS	841	0.0287	24.1367
Transfer to John EASDALE	10	0.0287	0.287
Transfer to Ruby KIRKWOOD	16	0.0287	0.4592
Transfer to David LOGAN	24	0.0287	0.6888
Transfer to Denise MORTON	11	0.0287	0.3157
Transfer to Irene OLDFATHER	49	0.0287	1.4063
Non-transferables	0.8408		

Stage 3 - Exclusion of James MCDAID

Stage 3 - Exclusion of James McDAID			
Action	Total Votes	Transfer Weight	Transfer Value
Transfer to TOM BARR	4	1	4
Transfer to John EASDALE	2	1	2
Transfer to David LOGAN	2	1	2
Transfer to Denise MORTON	9	1	9
Transfer to Irene OLDFATHER	2	1	2
Non-transferables	8		

Stage 4 - Exclusion of Denise MORTON			
Action	Total Votes	Transfer Weight	Transfer Value

Transfer to TOM BARR	1	0.0287	0.0287
Transfer to TOM BARR	16	1	16
Transfer to Marie BURNS	5	0.0287	0.1435
Transfer to Marie BURNS	19	1	19
Transfer to John EASDALE	1	0.0287	0.0287
Transfer to John EASDALE	7	1	7
Transfer to Ruby KIRKWOOD	1	0.0287	0.0287
Transfer to Ruby KIRKWOOD	4	1	4
Transfer to David LOGAN	13	1	13
Transfer to Irene OLDFATHER	1	0.0287	0.0287
Transfer to Irene OLDFATHER	16	1	16
Non-transferables	23.0574		

Stage 5 - Exclusion of Ruby KIRKWOOD

Action	Total Votes	Transfer Weight	Transfer Value
Transfer to CHRIS BARR	1	0.0287	0.0287
Transfer to CHRIS BARR	32	1	32
Transfer to TOM BARR	5	0.0287	0.1435
Transfer to TOM BARR	46	1	46
Transfer to Marie BURNS	3	0.0287	0.0861
Transfer to Marie BURNS	38	1	38
Transfer to John EASDALE	21	1	21
Transfer to David LOGAN	17	1	17
Transfer to Irene OLDFATHER	6	0.0287	0.1722
Transfer to Irene OLDFATHER	37	1	37
Non-transferables	76.0574		

Stage 6 -	Exclusion	of CHRIS	BARR

Stage 6 - Exclusion of Chris BARR			
Action	Total Votes	Transfer Weight	Transfer Value
Transfer to TOM BARR	3	0.0287	0.0861
Transfer to TOM BARR	138	1	138
Transfer to Marie BURNS	7	0.0287	0.2009
Transfer to Marie BURNS	41	1	41
Transfer to John EASDALE	24	1	24
Transfer to David LOGAN	7	1	7
Transfer to Irene OLDFATHER	1	0.0287	0.0287
Transfer to Irene OLDFATHER	32	1	32
Non-transferables	167.0861		

Stage 7 - Surplus of Marie BURNS

Stage 7 - Surplus of Marie BURNS			
Action	Total Votes	Transfer Weight	Transfer Value
Transfer to TOM BARR	176	0.00067	0.11792
Transfer to TOM BARR	166	0.02363	3.92258
Transfer to John EASDALE	48	0.00067	0.03216
Transfer to John EASDALE	117	0.02363	2.76471
Transfer to David LOGAN	32	0.00067	0.02144
Transfer to David LOGAN	77	0.02363	1.81951
Transfer to Irene OLDFATHER	82	0.00067	0.05494
Transfer to Irene OLDFATHER	101	0.02363	2.38663
Non-transferables	13.44731		_

Stage 8 - Exclusion of David LOGAN			
Action	Total Votes	Transfer Weight	Transfer Value
Transfer to TOM BARR	2	0.00067	0.00134
Transfer to TOM BARR	3	0.02363	0.07089
Transfer to TOM BARR	4	0.0287	0.1148
Transfer to TOM BARR	17	1	17
Transfer to John EASDALE	4	0.00067	0.00268
Transfer to John EASDALE	10	0.02363	0.2363
Transfer to John EASDALE	7	0.0287	0.2009
Transfer to John EASDALE	174	1	174
Transfer to Irene OLDFATHER	9	0.00067	0.00603
Transfer to Irene OLDFATHER	14	0.02363	0.33082
Transfer to Irene OLDFATHER	3	0.0287	0.0861
Transfer to Irene OLDFATHER	178	1	178
Non-transferables	84.47989		

Stage 9 - Surplus of Irene OLDFATHER			
Action	Total Votes	Transfer Weight	Transfer Value
Transfer to TOM BARR	10	0.00001	0.0001
Transfer to TOM BARR	8	0.0004	0.0032
Transfer to TOM BARR	10	0.00048	0.0048
Transfer to TOM BARR	72	0.01694	1.21968
Transfer to John EASDALE	31	0.00001	0.00031
Transfer to John EASDALE	37	0.0004	0.0148
Transfer to John EASDALE	20	0.00048	0.0096
Transfer to John EASDALE	712	0.01694	12.06128
Non-transferables	4.18665		_

Stage 10 - Exclusion of TOM BARR			
Action	Total Votes	Transfer Weight	Transfer Value
Transfer to John EASDALE	3	0.00001	0.00003
Transfer to John EASDALE	4	0.0004	0.0016
Transfer to John EASDALE	1	0.00048	0.00048
Transfer to John EASDALE	19	0.00067	0.01273
Transfer to John EASDALE	23	0.01694	0.38962
Transfer to John EASDALE	19	0.02363	0.44897
Transfer to John EASDALE	9	0.0287	0.2583
Transfer to John EASDALE	211	1	211
Non-transferables	553.09428		

Scottish Local Government Elections 2012: Publishing Voting Information

In compliance with Rule 61 of the Scottish Local Election Rules the Returning Officer is required to publish within one week of the declaration of the results of the poll information detailing:

- the number of first and subsequent preferences for each candidate at each polling station; and
- information for all postal ballots cast in a ward combined as if cast at a further polling station in that ward.

The relevant ward polling scheme has been adapted to assist in identification of polling station/ballot box and to provide further combination information.

Maintaining confidentiality

To ensure that an individual's voter preferences cannot be identified, it has been necessary to aggregate the data where the number of votes cast in a polling station is less than 200. Where aggregation has been necessary this has been identified in the accompanying data. In combining polling station results the returning officer has adopted the following criteria recommended by the Electoral Management Board for Scotland, which includes:

- wherever possible votes from the same polling place, have been combined with another station at the same polling place;
- combining single polling stations that are close geographically, particularly in rural areas, including combining villages with villages;
- no polling place data has been combined with that from another ward combined manually entered votes have been combined with the final box for the Ward; and
- all postal votes for the ward are combined as one ballot box.

Data from E-counting System

The data from the E-counting system provides the number of ballot papers that were counted electronically, including any that were entered manually rather than scanned.

Use of Data

In releasing the data, the Returning Officer is making it freely available for public use. It is not subject to copyright and material may be re-used provided that it is acknowledged, not used in a misleading way and is reproduced accurately. The Returning Officer does not accept responsibility for any alteration or manipulation of the data once released.

Contact Details

If there are any queries or comments on the data provided, please contact Martyn McKeown, Election Manager on 01294 324130 or elections@northayrshire.gov.uk.

Ward	Polling Place	Polling	Station	Ballot Box	Street Splits
	_	District	Number	Ref	
2	Stanecastle Primary School	N201	1	STO19	Altonhead Drive to Littlestane Row
	Statiecastie Filitary School		0		
2		N201	2	STO20	Macredie Place to Townhead of Lambroughton
2		N203			Bensley Avenue to Bowhouse Road
		N203	3	STO21	Bowhouse Rise to Overton Place
2		N203	4	STO22	Rigfoot to Willow Gardens and Other Electors
2	Littlestane Community Centre	N202	1	STO23	Annandale Way to Woodhill Crescent
2	Towerlands Community Centre	N204	1	STO24	Alder Green to Fintry Place
2		N204	2	STO25	Fintry Terrace to Wyvis Place
2		N206	3	STO26	Bencleuch Place to Sidlaw Foot
2	Springside Community Centre	N205	1	STO27	Bourtreehill Cottage to Warwickdale and Other Electors
2	Broomlands Primary School	N207	1	STO28	Broomlands Gate to Mull Terrace
2		N207	2	STO29	Pladda Court to Stronsay Way
2		N208			Barra Crescent to Gigha Terrace
2		N209			Pladda Avenue to St Kilda Place
2	Townend Community Centre	N210	1	STO30	Annick Drive to Eriskay Court
2		N210	2	STO31	Ford Avenue to Milton Crescent
2		N210	3	STO32	Milton Road to Wood Grove and Other Electors
2	Lanfine Community Centre	N211	1	STO33	Aberlour Place to Springfield Gardens
2		N212			Archers Avenue to Regalia View

LIVE ELECTIONS MAY 2012 First Preference By Ballot Box Report Ward 02 - Irvine East 04/05/2012

Numbers of Preferences allocated to each Candidate

BOX ST019	1st	2nd	3rd	4th	5th	6th	7th	8th	9th	10th
CHRIS BARR	27	5	8	2	3	0	0	0	1	6
TOM BARR	28	15	20	8	3	1	0	1	1	1
Marie BURNS	45	60	10	6	3	2	0	2	2	0
John EASDALE	19	20	36	6	5	6	1	1	0	0
Ruby KIRKWOOD	8	14	10	11	3	3	2	0	1	1
David LOGAN	17	35	22	16	6	3	2	1	1	0
James MCDAID	1	3	7	10	3	5	1	1	1	0
Denise MORTON	2	3	13	1	3	1	4	2	1	1
Irene OLDFATHER	42	25	25	14	2	0	1	2	1	1
Joan STURGEON	54	41	14	7	7	0	1	1	2	1
BOX ST020	1st	2nd	3rd	4th	5th	6th	7th	8th	9th	10th
CHRIS BARR	38	13	8	2	3	0	0	1	0	5
TOM BARR	43	18	14	8	1	1	2	4	0	0
Marie BURNS	47	42	10	5	2	2	1	1	3	0
John EASDALE	14	24	28	10	3	2	1	1	0	0
Ruby KIRKWOOD	19	14	17	3	2	1	1	0	2	0
David LOGAN	21	27	23	6	5	2	0	0	0	0
James MCDAID	2	5	6	4	3	1	6	2	1	0
Denise MORTON	5	4	4	4	2	4	0	2	4	2
Irene OLDFATHER	27	18	30	8	4	3	0	0	1	1
Joan STURGEON	35	51	11	3	2	0	1	1	0	3
BOX ST021	1st	2nd	3rd	4th	5th	6th	7th	8th	9th	10th
CHRIS BARR	11	5	2	0	2	2	0	1	0	7
TOM BARR	12	8	19	10	0	4	1	1	1	1
Marie BURNS	51	50	10	4	4	2	1	0	0	0
John EASDALE	19	23	46	5	4	2	0	0	2	0
Ruby KIRKWOOD	21	7	7	6	5	0	1	1	2	1
David LOGAN	59	45	20	7	2	1	2	2	1	0
James MCDAID	1	1	2	1	2	2	5	3	0	0
Denise MORTON	4	4	6	8	1	1	1	2	3	2
Irene OLDFATHER	37	32	45	3	2	1	0	0	2	0

Joan STURGEON	49	48	10	5	5	1	0	1	0	0
BOX ST022	1st	2nd	3rd	4th	5th	6th	7th	8th	9th	10th
CHRIS BARR	24	11	12	4	1	0	1	1	1	6
TOM BARR	37	27	22	13	5	1	3	3	2	0
Marie BURNS	41	63	13	9	3	3	1	0	0	0
John EASDALE	17	28	51	9	6	0	1	1	0	0
Ruby KIRKWOOD	22	20	13	9	0	4	1	4	1	1
David LOGAN	39	37	28	6	4	2	2	0	1	0
James MCDAID	2	2	5	6	1	5	4	1	3	0
Denise MORTON	2	8	9	5	3	1	1	0	4	4
Irene OLDFATHER	48	29	30	8	2	3	1	3	0	0
Joan STURGEON	64	42	12	10	7	2	0	1	0	1
BOX ST023	1st	2nd	3rd	4th	5th	6th	7th	8th	9th	10th
CHRIS BARR	18	6	8	4	3	2	1	2	1	8
TOM BARR	34	22	18	10	3	5	1	1	3	1
Marie BURNS	69	42	12	5	4	2	0	1	1	1
John EASDALE	18	24	43	10	3	4	2	1	0	0
Ruby KIRKWOOD	23	12	11	3	3	2	4	4	4	2
David LOGAN	40	46	16	10	5	0	1	1	1	0
James MCDAID	0	6	3	3	3	2	4	5	3	0
Denise MORTON	5	6	8	7	0	3	4	1	1	3
Irene OLDFATHER	43	26	40	6	6	1	2	0	0	1
Joan STURGEON	37	67	17	8	6	3	0	1	2	0
BOX ST024	1st	2nd	3rd	4th	5th	6th	7th	8th	9th	10th
CHRIS BARR	12	2	2	3	1	1	0	0	3	5
TOM BARR	24	14	24	5	2	3	1	3	2	0
Marie BURNS	83	30	8	7	0	1	1	0	0	0
John EASDALE	60	22	24	9	1	1	1	0	0	1
Ruby KIRKWOOD	16	11	13	4	0	0	1	3	2	0
David LOGAN	12	50	24	9	5	1	1	2	0	0
James MCDAID	1	3	6	5	2	2	2	2	1	2
Denise MORTON	10	4	13	3	3	3	1	0	2	1
Irene OLDFATHER	15	22	55	7	4	0	3	1	0	0
Joan STURGEON	21	76	16	5	6	3	0	0	0	0
BOX ST025	1st	2nd	3rd	4th	5th	6th	7th	8th	9th	10th
CHRIS BARR	6	3	4	2	3	1	0	0	3	8
TOM BARR	29	9	20	8	4	6	1	0	2	1
Marie BURNS	70	32	10	5	4	2	1	2	0	0
John EASDALE	54	30	25	8	5	1	1	2	0	0
Ruby KIRKWOOD	16	11	10	9	1	2	3	1	4	0
David LOGAN	7	49	19	12	4	3	1	2	2	0
James MCDAID	0	5	9	6	7	4	5	1	1	0
Denise MORTON	12	4	16	7	6	3	3	4	1	1
Irene OLDFATHER	20	15	47	8	6	3	4	1	1	1
Joan STURGEON	30	64	18	4	1	2	2	4	1	1
BOX ST026	1st	2nd	3rd	4th	5th	6th	7th	8th	9th	10th
CHRIS BARR	15	1	4	1	3	0	1	1	0	2

TOM BARR	17	18	15	11	2	2	0	0	0	1
Marie BURNS	77	29	6	4	1	0	0	0	0	1
John EASDALE	78	26	22	5	1	4	0	1	0	0
Ruby KIRKWOOD	4	5	6	2	1	3	2	0	2	0
David LOGAN	7	60	23	10	2	2	2	0	2	0
James MCDAID	0	4	6	5	1	0	2	2	2	0
Denise MORTON	8	3	10	10	3	1	2	1	0	2
Irene OLDFATHER	14	18	60	10	5	0	1	2	0	1
Joan STURGEON	25	56	18	4	1	1	0	1	1	0
BOX ST027	1st	2nd	3rd	4th	5th	6th	7th	8th	9th	10th
CHRIS BARR	10	9	2	0	2	0	0	0	0	3
TOM BARR	26	9	16	9	3	0	0	0	0	0
Marie BURNS	13	64	12	8	1	1	1	0	0	0
John EASDALE	33	28	45	4	3	0	1	1	2	0
Ruby KIRKWOOD	2	2	7	6	0	3	0	1	1	0
David LOGAN	13	56	39	1	2	2	0	2	0	0
James MCDAID	1	3	6	3	4	0	3	0	1	0
Denise MORTON	0	3	4	5	1	1	1	1	0	1
Irene OLDFATHER	70	20	30	4	2	2	0	0	1	0
Joan STURGEON	68	23	13	5	1	0	0	0	0	0
BOX ST028	1st	2nd	3rd	4th	5th	6th	7th	8th	9th	10th
CHRIS BARR	3	2	3	0	1	2	0	1	1	9
TOM BARR	22	5	23	8	0	2	2	4	3	2
Marie BURNS	70	41	6	3	3	1	0	2	0	1
John EASDALE	46	20	21	11	3	1	2	0	1	0
Ruby KIRKWOOD	2	7	13	4	2	1	0	3	4	0
David LOGAN	9	44	26	5	2	6	0	1	1	0
James MCDAID	1	4	3	5	3	0	6	2	4	0
Denise MORTON	5	5	7	8	1	2	4	2	1	2
Irene OLDFATHER	22	13	56	8	5	1	2	1	0	0
Joan STURGEON	39	64	12	3	4	1	0	0	1	1
BOX ST029	1st	2nd	3rd	4th	5th	6th	7th	8th	9th	10th
CHRIS BARR	9	1	3	4	2	1	0	0	5	3
TOM BARR	18	13	21	7	2	3	0	1	3	3
Marie BURNS	77	34	10	3	3	1	1	2	1	0
John EASDALE	55	27	29	3	4	0	1	0	0	0
Ruby KIRKWOOD	3	6	10	8	2	1	2	3	0	1
David LOGAN	11	48	22	8	4	0	2	1	0	0
James MCDAID	0	3	3	1	2	7	2	0	2	1
Denise MORTON	4	3	7	4	3	1	3	2	1	2
Irene OLDFATHER	27	11	44	10	6	4	0	1	0	0
Joan STURGEON	30	71	16	9	1	0	1	2	0	0
BOX ST030	1st	2nd	3rd	4th	5th	6th	7th	8th	9th	10th
CHRIS BARR	22	9	5	3	3	2	2	1	1	6
TOM BARR	35	19	33	6	2	0	0	2	2	0
Marie BURNS	26	90	9	5	5	3	1	1	2	1
John EASDALE	44	41	44	13	3	0	0	0	2	0

Ruby KIRKWOOD	4	7	11	6	3	5	1	3	0	0
David LOGAN	26	59	36	12	3	0	1	1	0	0
James MCDAID	3	1	5	6	2	4	4	2	3	0
Denise MORTON	3	7	6	3	4	2	3	3	1	3
Irene OLDFATHER	67	29	49	6	6	3	1	0	0	1
Joan STURGEON	106	39	12	7	1	1	2	0	2	2
BOX ST031	1st	2nd	3rd	4th	5th	6th	7th	8th	9th	10th
CHRIS BARR	13	7	6	7	1	2	2	2	1	4
TOM BARR	34	16	20	12	5	2	2	2	3	0
Marie BURNS	14	100	10	10	7	4	0	1	1	0
John EASDALE	33	26	49	6	3	1	0	2	0	0
Ruby KIRKWOOD	2	6	12	4	4	4	2	3	1	2
David LOGAN	11	60	26	14	1	1	1	0	0	1
James MCDAID	1	3	3	7	3	1	5	1	1	1
Denise MORTON	7	4	17	2	2	2	1	3	3	2
Irene OLDFATHER	52	24	37	8	9	1	2	0	0	1
Joan STURGEON	111	20	14	9	1	3	3	1	2	0
BOX ST032	1st	2nd	3rd	4th	5th	6th	7th	8th	9th	10th
CHRIS BARR	13	7	8	6	1	1	1	1	1	7
TOM BARR	31	17	24	6	4	2	1	2	2	2
Marie BURNS	21	59	21	6	5	0	1	3	0	1
John EASDALE	29	25	31	11	2	4	0	0	0	0
Ruby KIRKWOOD	4	6	10	7	3	2	2	4	4	0
David LOGAN	17	57	20	5	7	1	1	0	0	0
James MCDAID	1	4	7	1	0	0	8	1	5	1
Denise MORTON	2	2	7	5	1	2	1	4	2	4
Irene OLDFATHER	51	22	35	10	1	3	0	1	1	0
Joan STURGEON	78	29	10	5	7	2	1	0	1	0
BOX ST033	1st	2nd	3rd	4th	5th	6th	7th	8th	9th	10th
CHRIS BARR	27	10	12	6	2	2	1	0	1	0
TOM BARR	34	15	17	12	6	4	1	0	1	1
Marie BURNS	48	35	8	6	5	3	0	3	0	0
John EASDALE	10	30	34	8	6	2	2	1	1	0
Ruby KIRKWOOD	29	15	13	8	5	2	0	2	0	0
David LOGAN	18	34	27	11	3	2	1	4	0	0
James MCDAID	4	2	5	3	1	3	4	0	4	2
Denise MORTON	0	3	6	7	2	2	1	1	2	5
Irene OLDFATHER	31	23	25	12	6	0	1	0	1	1
Joan STURGEON	40	47	12	6	4	1	2	0	0	1
BOX Postals Combined		2nd	3rd	4th	5th	6th	7th	8th	9th	10th
CHRIS BARR	129	42	24	15	4	8	3	3	5	26
TOM BARR	113	76	92	44	20	18	5	2	7	5
Marie BURNS	165	245	56	31	11	7	5	6	7	2
John EASDALE	114	119	176	30	13	12	6	2	1	2
Ruby KIRKWOOD	88	61	69	31	5	12	9	9	7	4
David LOGAN	106	198	103	44	19	5	9	2	2	0
James MCDAID	9	15	16	26	9	11	14	14	10	4

Denise MORTON	20	15	33	14	16	7	8	17	11	3
Irene OLDFATHER	197	103	147	30	15	4	7	7	4	3
Joan STURGEON	258	170	46	18	14	4	3	3	5	8

NB The STV election results cannot be calculated from these numbers.